Q. 1:  Write a short note on following. {02 Morks) .‘,f‘ i ot it
{. Chloroplast ,.|...-q,p,.1|"
il. Mitochondria W7y

Ans:




Q.2: The weight of 8 cartons of mangoes is 60 Kg. Find the weight of 3 cartons of

mangoes? {04 Marks)
NS ERr B A
Ans:
Q.3: Determine the value of X. 14,18,X, 162 {04 Marks)

14, 18, X, 1622 /ri=—"" 20 X
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Q.11

Q.13

Q.14

Q. 16

What is the second form of verb
choose?

A.  Chocse

B. Chose

€ Choosen

D. Chosen

He does not agree me.

A With

B To

€ On

D. For
Choose the correct Indirect sentence.
He said, "I am not a thief."

A.  He said that he is not a thief.

B. He said that he was not a thief,

€ He said that | was not a thief,

D.  He said that | were not a thief.
Translate into English:

'H:P‘:"M:'“WF‘F

A. You are taller to me

B. You are taller from |

€ You are taller than me

D. " You are taller with me
Second form of the verb "Buy" is

A Buyed
B. Bought
€ Brought
D.  Boughtt

Fill in the blanks with A, An, The:
| gave him one rupee for
ink-pot.

the, a
a, the
the, an
a, an

=Enz >




¥, They have been working hard since last year. {Change into interrogative)

Ans:

wl, The students will have (pass) the exam In 2020,  [Use correct form of the verb)
Ans:

Q.3: Write a letter to your elder brother about your health. {03 Marks)

Ans:
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Q.17

Q.18

He is not afraid death.

A With

B. Of

€ From

D. To
Fill in the blanks with suitable
words/preposition.
Please send this latter

A At
B. On
 To
D in

0.19

Q.20

Q.21

{a,b,c,d,e,f,...........) is set, which set fe drl of {ab,c.de £

is this?

A.  Definite Set

B. Finite Set
C  Infinite Set
D.  Empty Set

What among the options is billion?

A 10 Digits

B. 8 Digits

C. 12 Digits

D. 4 Digits
Solve: 4(6+2+2)=7?

A 20
B. 6.5
C 21

D. Nnne nf thece

te bl ot om b uf

10 5
1=
12 s

& 1

a6+2+2)=2 S JS

20

6.5
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Objective Portion (MCQs) (60%)
Q.1  She absent yesterday
A were
B was
C s
0. have

2 What is the plural of "knife"?

A Knifes
B Knives
L Kniffes
b Knifees

Q.3 Choose the correct spelt word.

A Enxious

B Anxious
€ Anxeious
0. Anexious

¥4 Choose the correct passive?

| have done my job.

A My job has been done by me.
B My job has been done by 1.
& My job has been done by me.
0. jobis done by me.
&5  Change into negative.
The bell rings at 8:00 am.

The bell do not ring at 8:00 am,
The bell did not ring at 8:00 am.
The bell does not ring at 8:00 am.
The bell not ring at 8:00 am

e P E P
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Q.2: What Is the difference between photosynthesis and respiration? (02)
LS 2 KR ags by

Q.3: Write down four properties of oxygen. (02 Marks) -u'fah-kr"#ifﬁ

Ans:
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Objective Portion (MCQs) (60%)

0.1 She absent yesterday
A were

B. was
C |s

L. have
%2 Whatis the plural of “knife"?

A Knifes
B Knives
L Kniffes
. Knifees

1.3 Choose the correct spelt word.

A Enxious

B Anxious
C  Anxeious
0. Anexious

0.4 Choose the correct passive?

| have done my job.

A My job has been done by me.
B My job has been done by 1.
My job has been done by me.
b.  job is done by me.

¢5  Change into negative.
The bell rings at 8:00 am.

A. The bell do not ring at 8:00 am.
B The bell did not ring at 8:00 am.,
L The bell does not ring at 8:00 am.
B. The bell not ring at 8:00 am.

Pags 1ol 13



Q.42 The process of the photosynthesis rFrxbggb/ﬁ_H‘Jr_“Jp
manly takes place in which part of the
plants?
A Stem £
B Leave 3
[
0. All of these e
Q.43 Which of the following is sense organ? te S Ll N e Ldio
A Nose gt
€ Tongue ot
DAl o
Q.44 Which of the following is a metal? te wbor b of e £ 3w
A Nitrogen ikt
B Chlorine oral
€ sulphur i
D Zinc £
Q.45 Which type of animal horse is? te ot ;Iﬂ Nl
A Herbivores £ arl
B Carnivores Faf
€ Omnivores -
B None of these e e
Page 8.of 13
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Q.46 The percentage of nitrogen in air is?

21%
1%

C 7%

b 78%

.47 Energy present deep in the earth is

called?

A Solar energy

B Hydropower energy

as

fg- A Frf Lin

) 4
E
T£
TR

te 0 do7s2r o0 £ et



Subjective Portion (MCQs) (40%)

14

L2

i

Translote the following into Urdw. [Any three) {03 Moarks)

It is our collective responsibility to keep our homes, streets and surroundings clean as hadith says,”
Cleanliness is half of the faith®

. #As a woman, she could not travel herself for business, so she used to appoint same honest

merchants of the town, who wanted to go to other countries for selling trade goods.

He is known for his contributions in the fields of philosophy and medicinge.

. The people of the country enjay all seasons along with the different natural gifts

Answer the following. [06x I=06 Maorks)

Wfrite mlharal af-



Q1% {3 b, e, d, el i) 15 588, which set tfrttflfﬂf[.lblﬂiﬂit h]

is this?
A Definite Set T
B Finite Set s a1 SE
L Infinite Set e il St
D, Empty Set o
220 What among the options is billion? g+rﬂ(=r\ wi-af
A 10 Digits 10 1.
. 8 Digits 8 s
€ 12 Digits 3 s
0. 4 Digits o
Q.21 Solve:  4(6s2+2)=7? de242)=1 LSS
u' E-E i E
- k]|
U, None of these B8 o
Page & of 13
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222  Who introduced "0" to number? A Jr.i o de Uf___ﬂr-n- J@p
A labir Bin Hayan otk
B Musa Al Khwarizmi daFigr
C  Aristotle -
D. None of these Fr o o e

Q.23 28 Students complete a project in 15 6122102 L/ V2w “frfl_;"‘:m
days, How many days will it take 1o

complete Iif the students are 217 tLy/ S runZ/ ud
A 21 days T
B 20 days 430
C 18 days s
0. 24 days o124
.24 .
Q Angle of more than 907 is called: -1'-“(:'*" . g0°
A Acute Acule
i QObtuse Obtise

€ Hypogenous Hypogenous



Q.2: Answer the following.
i, Write plural of:

a] Mango
b) Leaf

{06x1=06 Mark

fi. Write degrees of the adjectives:

a) Protty
b) Important

iii. Write the feminine of:

a) Conductor
b) Niece

iv. Use the word in o sentence of your own.

a) Unjust
b} Decorate
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3.6

Q0.7

Q.8

Q.9

). 10

What is the synonym of the "equal"?

A Uniform

B.  Even

L Parallel

D. None of these
He was playing cricket.
Which tense is this?

A.  Present continuous

B. Future perfect

€. Past perfect

D.  past continuous
Choose the correct verb to fill in the
blanks. It
since morning

A israining
B.  has been raining
C rains
D.  rain
Choose the correct Translation of the

sentence. felsskelmly

A Has he been reading since 2
o'clock?
B. Has he reading since 2 o'clock?
€. Has he been reading from 2
o'clock?
D. |s he been reading since 2 o'clock?
What is the opposite of "True"?

TRUTH
FALSEHOOD
FALSE
WRONG

O N R
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225 sglve: 24/5+13/6=7 2a/s+ 13/6=1 S
A 7 23 7 33
8 8 2/8 $ 2/3
C 514+ 9/6 s/i4+59/s
b: 6/9 +5/14 6/9+ 514
Q.26 The founder of Geometry is: 1._,3* Fixe
A Musa Al Khwarizmi At g
lahir Bin Hayan o o8 Ll
Feetha goras o f
D Al Beruni drd
Poge 5ol 13
Cilet College Kohhu
@27 Determine the value of X : X,3,4,6 Lt s X X346
A3 2
B 5 5
C 4 4
0. i
@28 Aslam went to market with 1000 V& ol adA e £ 40010001
rupees and spent 45 percent of his
money. How much money he saved? W o muy Lo ) o sdas
A 550 Ru pees _L_L!.__Ithn
i 450 Rupees L rAS0
C 600 Rupees L ri600
0. 800 Rupees L riB00
Q.29  Which of the following numbers are "f-"f"ﬁ' Lt 49U = £ Lirs
divisible by 9
A 910 a0
o8 81
b a4 44
Q230 solve: 12+4{18:3)=7 12¢(1B+3) =17 LEfJ
A 15 15
g ”
B

4.5



Q.48

Which Tissues Transport water from
roots to leaves in plant

A,

I

C

.

Xylem
Phloem
Upper epidermis

Lower Epidermis

tu _G;'Jiﬁkiuinuaﬂu’f

Q.49

te U U 2 &8 0 g 2=y 451 ot 8

o
1+t Lkl
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Q.50

Q.51
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(02) Leuabflits ol
@ 24 (1)
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(02) LI s sttt A
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R E R R R R R R R TR RN RN RN RN E TR IS TR EE SRR PR EES EEE PR RN W w

D T i e T e



Cadet Colfepe Bodalu

Science

.37 Middle ear consists of how many
bones?
A Two
B Three
L Five
0 Seven

1.38  What s the symbal of Nickel?

A Nic
B Nc
C N
0. Nik

239  pencil lead is made of what?

A Sulphur
B. Graphite
L Hydrogen

D None of these

ri_rupp".;u#.‘-l"_- JLHJ v ST

i
W A

Q.40 Which of the following reflect Te &S P Wz eof et bibe
maximum?

A White paper o

8 Mirror T

c 3

Wooden plat T
D glack color sheet s
Page 8 of 13

:.Ill": LA R .r.'-l-.lll
Q.41 Ljght enters into the eye through? Te & tis 2al uf,_f“h: Fr

A ris .t

B.  Retina -y

C  Cornea .

ﬁ_r

0. None of these



gu N
|’J' Bt

LR 1 ¥

A,

-

okl
- u'tl'f
.
=

¢34 f{-&tfdfu’qﬁ

A
.
T

Lo :
od f
.

JFI

Cailer College Kol

Page 110l 13

O35 g WotherPun £ o

A. u:l;
™ :-I_.F I-':L-'l
c- d J‘:—Hl'r
o i
A85E

i}, 5t +Jl#r|".3

A



gu N
|’J' Bt

LR 1 ¥

A,

-

okl
- u'tl'f
.
=

¢34 f{-&tfdfu’qﬁ

A
.
T

Lo :
od f
.

JFI

Cailer College Kol

Page 110l 13

O35 g WotherPun £ o

A. u:l;
™ :-I_.F I-':L-'l
c- d J‘:—Hl'r
o i
A85E

i}, 5t +Jl#r|".3

A



gu N
|’J' Bt

LR 1 ¥

A,

-

okl
- u'tl'f
.
=

¢34 f{-&tfdfu’qﬁ

A
.
T

Lo :
od f
.

JFI

Cailer College Kol

Page 110l 13

O35 g WotherPun £ o

A. u:l;
™ :-I_.F I-':L-'l
c- d J‘:—Hl'r
o i
A85E

i}, 5t +Jl#r|".3

A



Q.i: Simplify: ?E +.~‘I;x4£ -4 ; (04 Marks)
¥ o 1 1
72 +3ixas -4z S

5

I

Q.2: The weight of 8 cartons of mangoes is 60 Kg. Find the weight of 3 cartons of
mangoes? (04 Marks)
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